



Nombre: _____

Fecha: _____ Puntuación: _____

$$(-2)^2 + 5 =$$

$$1^2 + 3 =$$

$$3 - 10 =$$

$$6^2 - (-7) =$$

$$(-7)^{(-2)} - 5 =$$

$$(-10)^2 - 3 =$$

$$(-9)^2 - 2 =$$

$$4^{(-2)} - 10 =$$

$$(-8)^2 - (-3) =$$

$$9^{(-1)} - (-1) =$$

$$(-4)^{(-1)} - 4 =$$

$$(-8)^2 + (-4) =$$

$$(-6)^2 + (-7) =$$

$$5^{(-1)} - (-10) =$$

$$(-4)^{(-1)} + (-7) =$$

$$7^{(-1)} + (-1) =$$

$$(-8)^{(-1)} + (-8) =$$

$$(-1)^2 + 4 =$$

$$8^{(-2)} - 2 =$$

$$(-9)^{(-1)} + (-8) =$$



Nombre: _____

Fecha: _____ Puntuación: _____

$$(-2)^2 + 5 = 9$$

$$1^2 + 3 = 4$$

$$3 - 10 = (-7)$$

$$6^2 - (-7) = 43$$

$$(-7)^{(-2)} - 5 = \left(-\frac{244}{49}\right) = \left(-4\frac{48}{49}\right)$$

$$(-10)^2 - 3 = 97$$

$$(-9)^2 - 2 = 79$$

$$4^{(-2)} - 10 = \left(-\frac{159}{16}\right) = \left(-9\frac{15}{16}\right)$$

$$(-8)^2 - (-3) = 67$$

$$9^{(-1)} - (-1) = \frac{10}{9} = 1\frac{1}{9}$$

$$(-4)^{(-1)} - 4 = \left(-\frac{17}{4}\right) = \left(-4\frac{1}{4}\right)$$

$$(-8)^2 + (-4) = 60$$

$$(-6)^2 + (-7) = 29$$

$$5^{(-1)} - (-10) = \frac{51}{5} = 10\frac{1}{5}$$

$$(-4)^{(-1)} + (-7) = \left(-\frac{29}{4}\right) = \left(-7\frac{1}{4}\right)$$

$$7^{(-1)} + (-1) = \left(-\frac{6}{7}\right)$$

$$(-8)^{(-1)} + (-8) = \left(-\frac{65}{8}\right) = \left(-8\frac{1}{8}\right)$$

$$(-1)^2 + 4 = 5$$

$$8^{(-2)} - 2 = \left(-\frac{127}{64}\right) = \left(-1\frac{63}{64}\right)$$

$$(-9)^{(-1)} + (-8) = \left(-\frac{73}{9}\right) = \left(-8\frac{1}{9}\right)$$